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5 X 4 B | Timh o DR jmxa;é R 4 TiRALDKE [ FE jw)xajé R 4 B | LmAhoDE jw)xajé K 4 HiEhooks | & jmjtéfé
(m) (m) (kN/ ) EEBf(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
7 100kN/mM%BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~ -
s 1.00 | 0.00 ~ 4.34 54.21 | #nRS | 000 ~ 4.34| 1.98 9.985 st 1.00 | 6.00 ~ 5.00 54.21 | =h4 | 5.00 ~ 65.00| 1.98 9.985
2 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 5.49 68.56 | TN | 000 ~ 549 | 1.95 9.86 st 1.00 | 6.00 ~ 6.60 68.56 | TSt | 5.00 ~ 6.60)| 1.95 9.86
3 100kN/mM%E#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 666 84.12 | #nS | 0.00 ~ 0.00| 1.58 7.98 st 1.00 | 6.00 ~ 8.90 84.12 | =hd4 | 5,00 ~ 890 | 1.58 7.98
4 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 702 89.02 | #nS | 0.00 ~ 0.00| 1.65 832 st 1.00 | 6.00 ~ 9.10 89.02 | =n4 | 5,00 ~ 910 1.65 8.32
100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
zhst - -~ - -| Fhust -~ - - - Fhst - -~ - -l En s -~
100kN/mM%BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
zhst - -~ - -| Fhust -~ - - - Fhst - -~ - -l En s -~
100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
zhst - -~ - -| Fhust -~ - - - Fhst - -~ - -l En s -~
100kN/mM%E#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
zhst - -~ - -| Fhust -~ - - - Fhst - -~ - -l En s -~
100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
zhst - -~ - -| Fhust -~ - - - Fhst - -~ - -l En s -~
100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -] 100kN/m#%#8% % - -~ - -|3mEBZD -~
zhst - -~ - -| Fhust -~ - - - Fhst - -~ - -l En s -~
100kN/mM%BZ 5 - ~ -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
zhst - ~ -| Fhust -~ - - - Fhst - -~ - -l En s -~
100kN/mM%#BZ % - ~ -|3mEBZD -~ - - -] 100kN/m%#8% % - -~ - -|3mEBZD -~
zhst - ~ -| Fhust -~ - - - FhLst - -~ - -l En s -~
100kN/mM%#BZ % - ~ -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
zhst - ~ -| Fhust -~ - - - Fhst - -~ - -l En s -~
100kN/mM%#BZ % - ~ -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
zhst - ~ -| Fhust -~ - - - Fhest - -~ - -l En s -~
100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
zhLst - -~ - -| st -~ - - - FhLst - -~ - -| En LS -~
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